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General Instructions :
Read the following instructions very carefully and follow them :
(1) This Question Paper contains 38 questions. All questions are compulsory.
(i) Question paper is divided into FIVE Sections — Section A, B, C, D and E.
(it1) In Section A — Question Nos. 1 to 18 are Multiple Choice Questions
(MCQs) and Question Nos. 19 & 20 are Assertion-Reason based
questions of 1 mark each.
(iv) In Section B - Question Nos. 21 to 25 are Very Short Answer (VSA) type
questions of 2 marks each.
(v) In Section C — Question Nos. 26 to 31 are Short Answer (SA) type
questions, carrying 3 marks each.
(vi) In Section D — Question Nos. 32 to 35 are Long Answer (LA) type
questions carrying 5 marks each.
(vit) In Section E - Question Nos. 36 to 38 are source based/case
based/passage based/integrated units of assessment questions carrying
4 marks each.
(viit) There is no overall choice. However, an internal choice has been provided
in 2 questions in Section B, 3 questions in Section C, 2 questions in

Section D and 2 questions in Section E.
(ix) Use of calculators is NOT allowed.

SECTION - A
(Multiple Choice Questions)
Each question carries 1 mark.

1. If the angle between a and b is % and |axb| = 3\/5, then the value of

a-bis 1
@ 9 ® 3
© 3 o 3
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Th TR 94 ABCD & o shamma sfist & ferfa afew A1 + 2] — 6k),
B(51 — 3] + k) @ C(121 + 4 + 5k) & 1 fiig D =1 fRfr afem &
(A) —3i—5]— 10k B) 21i+3]

©) 11i+9] -2k D) —11i-09j +2k

Ife g1 gl A 9U1 B % foT P(A — B) :%w PA) = %%’FﬁP(%)W%:
(A) (B)

©) (D)

QDN D=
wlbho  otjw

2n /2
Elﬁf cos?x dx =k f cos?x dx 8, Mk HTAA R :
0 0

A) 4 B) 2
© 1 D) 0

Ife T AABC & 3 (a, b), (¢, d) T (e, ) T AABC T &% A gRI &ud

a c e |2
s, @i | b d f| sts?:
1 11
(A) 242 (B) 4A2
(C) 2A (D) 4A
B f(x) = x| x|, x=0W
(A) Hdd dUT EaheHIT 2 | (B) Had ®, W] T T8I ¢ |
(C) rashea 7, T Had T8l ¢ | (D) ¥ HAd AR A & TThe # |
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2. The position vectors of three consecutive vertices of a parallelogram

AN AN N AN AN JAN AN AN N
ABCD are A (4i+2j—6k), B(Bi—3) +k) and C(12i +4j +5k). The

position vector of D is given by 1
Ao A ALA

(A) -31-55—-10k (B) 211+ 3j
AN AA A

(C) 111+9j -2k D) -111-9; +2k

3. Iffor two events A and B, P(A - B) = % and P(A) = %’ then P(E) 1s equal to 1

A

1 3

@ 5 ®)

2 2

© D) 3
2n /2

4. If f cos2xdx=k f cos2x dx, then the value of k is 1

0 0

@A) 4 B) 2

© 1 D) 0

5. If(a, b), (c, d) and (e, f) are the vertices of AABC and A denotes the area of

a c e |2
AABC,then | b d f | isequalto 1
111
(A) 272 (B) 4A2
©) 2a D) 4A
6. The function f(x) = x| x|1is 1

(A) continuous and differentiable at x = 0.
(B) continuous but not differentiable at x = 0.
(C) differentiable but not continuous at x = 0.

(D) neither differentiable nor continuous at x = 0.
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7. 9f¢tan (i_i}%) = k%,?ﬁ%ﬁm%:

@ = ® =

(C) sec? g) (D) —sec? g)

8. e iRgeh TWTHT HHET o 323 Bl Z = ax + by 1 (4, 6) T fRehad U= 42 B a0
(3,2 WA U 198, A= T a B T oI ] 2
(A) a=9,b=1 (B) a=5b=2
(C) a=3,b=5 (D) a=5b=3

9. @%@mmw%wm%sﬁﬁﬁgm,@,(8,0)3%(%,%)%|€rﬁq'swﬂ
3R He Z = 30x + 24y 7, I (Z 1 IIeha¥ HH — Z T =[IaH HH) SR 7 :
A) 40 B) 96

(©) 120 (D) 136

10. e 3 x 3 o FHMA TSI, T Tk 31aa 191 —1 8, Hl T2 2 :
(A) 512 B) 64
(C) 8 D) 4

11. Er%[?) 2] =P+ Q2 &l P U THMNG g § 997 Q Teh favm gAfia g &,

T‘ﬁQW%:

@ [ %] ® [ 0]
© [ 5 %] o [ 3]
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+
7. Iftan (x_X) =k, thengX 1s equal to 1
xX—y dx

@ =

(C) sec? (ﬁ)

®)

X

(D) —sec? (ﬁ)

8.  The objective function Z = ax + by of an LPP has maximum value 42 at

(4, 6) and minimum value 19 at (3, 2). Which of the following is true ? 1
A a=9,b=1 (B) a=5b=2
(C) a=3,b=5 (D) a=5,b=3

9. The corner points of the feasible region of a linear programming problem

are (0, 4), (8, 0) and (%, g) . If Z = 30x + 24y 1is the objective function, then
(maximum value of Z — minimum value of Z) is equal to 1
A) 40 B) 96
(C) 120 (D) 136

10. Number of symmetric matrices of order 3 x 3 with each entry 1 or — 1 1is 1
(A) 512 (B) 64
€ 8 D) 4

2 0
11. If [ ] = P + Q, where P is a symmetric and Q is a skew symmetric

5 4
matrix, then Q is equal to

@ o 7]

© |5 %
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1 21
12. Eﬁ%{!Z 3 l}wquﬂa{g%WaeA%,ﬁwAW%:
3 a 1
A) R B) {0}
©€) {4} D) R-{4}
13. 3AfC |A| = |kA| &, &l A Ife 2 &1 ol SR &, a1 k o 9eft Fra 71 1 ATHA & -
A 1 B) -1
©€) 2 D) 0
14. Elﬁ%c[f(x)]:ax+b%Wf(O)=0%,Fﬁf(x)W%:
(A) a+b (B) asz+bx
(®)) asz+bx+c D) b
. (@z
15. 379l U sin x + coS dx)=y25ﬁ€|ﬁ%:
4 2 B) 1
(C) afwTiva &1 & | D) 0
16. Wm(l—yz)%+yx=ay,(—1<y<1)WWW%:
1 1
(4) -1 B) 1
1 1
(©) 1—y? D) 2
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12.

13.

14.

15.

16.

1 21
Ifl 2 3 1 } is non-singular matrix and a € A, then the set A is 1
3 a l

(A) R B) {0}

C) {4} D) R-—{4}

If |A|] = |kA|, where A is a square matrix of order 2, then sum of all

possible values of k 1s 1

A4 1 B) -1

€ 2 D) 0

d .
If e [f (x)] = ax + b and f(0) = 0, then f(x) is equal to 1
ax?
(A) a+b (B) 7+bx
ax?
©) 7+bx+c D) b
: . . . dy) _ .

Degree of the differential equation sin x + cos de) S Y18 1

A) 2 B) 1

(C) not defined D) 0

The integrating factor of the differential equation

(1 -y ftye=ay, ((1<y<Dis 1
y
1 1
@ 57 ® =
1 1

C D

© 1oy O
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17. Ife Paur Q & fresmes shast: (2, 1, —1) 97 (4, 4, —7)%‘,3%%%343%5[%@%%

18.

19.

20.

2
A A AN A A A
(A) 21+3j-6k (B) —-21-3;j+6k
2i 37 6k 2 . 3] 6k
—2i 3j 6k 21,3 6k
© =7 ~7*7 D) 77777

g (1, 2, 3) & B ST Tl 98 W i1 IR Tt & THH HIvT ST 2, 1 HHIh 3 -

(B)

T ST 19 T 20 H Tk ITRRRYA (A) % 91E Teh deh 19T %24 (R) fean 2 | yies o
= =i 6 & 15 vk wa fosked g -

(A) (A) 1 (R) GHI I € SR (R), YA (A) i HEl AT HLd1 2 |

(B) (A) TUT (R) THI T &, T HH (R), I (A) h! Tl STEAT el T ¢ |
(©) (A) "R, W (R) T 2 |

(D) (A) 3T 27T (R) A |

ARTHYT (A) : (cos™! x)2 T AfIhad IH n2 7 |

T (R) : cos—lxaﬂg@mwwqﬁm[%, %]% |

AR (A) : TG T @1 Fewe 3781 1 gATeHeh M H o, B, y 3 HIV AT &, al
sin? o + sin? B+ sin2y =27 |

Teh (R) : T @1 o feep HIETeHi o ol bl AT 1 BT @ |
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_)
17. Unit vector along PQ, where coordinates of P and Q respectively are

(2,1,-1) and (4, 4, -7), 1s 1
@A) 23 +35 -6k (B) -2i-3j+6k

21 37 6k 2 . 3] 6k

—2i 3j 6k 21,3 6k
© =7 ~7*7 D) 77777

18. Equation of a line passing through point (1, 2, 3) and equally inclined to

the coordinate axis, 1s 1
X_y_2z X_y_2z

@) 77573 B) 75777
x—1 y—-1 z-1 x—1 y—-2 z-3

© =" 73 D) 77 1 - 1

ASSERTION-REASON BASED QUESTIONS

In the following questions 19 & 20, a statement of Assertion (A) is
followed by a statement of Reason (R).

Choose the correct answer out of the following choices :
(A) Both (A) and (R) are true and (R) 1s the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

(C) (A) 1s true, but (R) is false.
(D) (A) is false, but (R) is true.

19. Assertion (A) : Maximum value of (cos™! x)? is n2. 1

Reason (R) : Range of the principal value branch of cos lx is [%, g] )

20. Assertion (A) : If a line makes angles o, B, y with positive direction of the
coordinate axes, then sin? o + sin? p + sin? y = 2. 1

Reason (R) : The sum of squares of the direction cosines of a line is 1.
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21.

22.

23.

24.

25.

26.

g -§
30 @Ug A 31fd Tg-3a (VSA) TR & T &, T8 T o 2 37 & |

afy figail A, B e C % fRuf afew s 21, § aun ok &, @ qufsy B AABC w
FafgsTg Bryw 2 |

3
(a) | FTd HIT : sin~? (sin Zn) + cos™1 (cos m) + tan™! (1)

HAYET
(b) cos™! x T TG WIT &l x e [—1, 0] T 3HehT RER oft faafgu |

Ife fRR 3MER 10 cm 9Tt FHIGETE BYS & 99H o€ 4 cm/s A XA T W E, @
39 | S TSt o6l A1 oTE AR 21 ST, Bt o &het o G- %1 g T gril 2

v Y= Yot = 2 L for v gt % i i i, frel g fig @ o0
11 5hE & |

@ ey =arr b, g e Sy + ()2
YAl

ax+b ; 0<x<1

(b) Elﬁf(x)={2x2_x 1<x<2§mﬁmwwq(o,zmmwﬁa%,aﬁa
AT b o H AT HIT |
Qg -

30 @Ug H TY-3T (SA) TR o ¥ &, oHH Iieh & 3 376 7 |
= e o= TH=n 1 AT g gt ST :
Ul : x + 2y > 240,

3x + 1.5y > 270,

1.5x + 2y < 310,

x>20,y>0
o AW Z = 3x + 3.5y I IATehdd HH FTd HIWT |
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SECTION - B
This section comprises of Very Short Answer Type (VSA) questions, each
of 2 marks.

AN A A
21. If points A, B and C have position vectors 21, j and 2k respectively, then

show that AABC is an isosceles triangle. 2
SR B 1 -1 -1
22. (a) Evaluate sin™ |sin 4 ) T cos (cos ) + tan™ (1). 2
OR
(b) Draw the graph of cos™! x, where x €[-1, 0]. Also, write its range. 2

23. If equal sides of an isosceles triangle with fixed base 10 cm are increasing
at the rate of 4 cm/sec, how fast is the area of triangle increasing at an
mstant when all sides become equal ? 2

x y—1 z+1

24. Find the coordinates of points on line 1 9 = 9 which are at a

distance of \/ﬁ units from origin. 2
@y | (dy)?
25. (a) Ify=+/ax+Db, then prove thaty L2 + i 0. 2
OR
+b ; 0<x<1 . ) ) ) )

(b) If f(x) = {;ﬁz_x 1 <j§ <9 18 a differentiable function in (0, 2),

then find the values of a and b. 2
SECTION - C

The section comprises Short Answer (SA) type questions of 3 marks each.
26. Solve the following Linear Programming problem graphically :
Maximize : Z = 3x + 3.5y
subject to constraints : x + 2y > 240,
3x + 1.5y > 270,
1.5x + 2y < 310,
x>0,y >0. 3
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27. (a)

(b)

+
sn?raﬁﬁm:fx—zdx

x2—4x-5

YAl

X

1+9*

M 14 I f £(x) da, ST&T £(x) = 2

—a

_ —x+ 2
98. T IR - jewt Lx (u) dx

1+ x2

log\/3

1

29. HM T hifST : f dx

30. (a)

(b)

31. (a)

(b)

65/2/3

(e*+e™) (e*—e™)
log \/2

AIHA THHWT (xy — x2) dy = y? dov 1 ST9h & [T hITT |
Agar

Wgﬁw(x2+1)%+2xy:\/ 2 + 4 %] STIH &A T hINY |

UEel B: {9 WTehd G W § ArgesA, forr faeemaa %, € wed g+ e | wfg
X, FH ME T ¥ 1 o wen « Fefid s g, ar X &1 Tiekdr sed 91
T |

YT
Teh T2 ek AT Ush SHNFT I 1 3BT =T | T o A T Foaep 1 o=
T & 3R B =T I8 T HE@AT 3 The B @ ! HEMUd Hid & | S hifeg fop
TS A 3R B T & a1 74 |
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+
27. (a) Flndf _x*2 dx. 3
x2 — 4x —

X
(b) Evaluate f f(x) dx, where f(x) = 1+ 9 3
—a
28 F d cot_lx ]'_x—-i_xz d 3
. Fin Je 1+ 2 X.
log /3
1
29. Evaluate f P — dx 3
log \2
30. (a) Find the general solution of the differential equation :
(xy — x2) dy = y2 du. 3
OR
(b) Find the general solution of the differential equation :
2 dy Y
(x +1)dx+2xy— x“+ 4 3
31. (a) Two numbers are selected from first six even natural numbers at
random without replacement. If X denotes the greater of two
numbers selected, find the probability distribution of X. 3
OR
(b) A fair coin and an unbiased die are tossed. Let A be the event, “Head
appears on the coin” and B be the event, “3 comes on the die”. Find
whether A and B are independent events or not. 3
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g -¥
39 @US 1 EH-390% (LA) ThR B IH 7, T I & 5 3% 7 |
32. Wh oM £ [— 4, 4] - [0, 4], f(x) =\ 16 — x2 TR Y& & | TNTY % f T =oeH

HoH &, T Theh! ®old T8l 3 | $9oh il ‘a’ < 98 gyt 7 F1a shifste faes fete
f(a) =72 |

-3 -2 4 1 2 0
33. (@) IIRA=| 2 1 2}@13:!—2 -1 —2}%@%14]3313@1%&@1
sﬁuﬁﬂﬁém;ﬁa»jmﬁwaﬁwaﬂoﬁq? !
x—2y=3
2x—y—z=2
—2y+z=3
3AYdT
cosoa. —sina O
(b) Elﬁf(oc):!sinoc cos o 0}%,?ﬁﬁaéﬁmﬁﬁf(a)-f(—[}):f(a—[})
0 0 1

34. (a) WA 9qds PQRS fas sfid P4, 2, —6), Q(5, -3, 1), R(12, 4, 5) ae
S(11, 9, —2) &, & Terepurt o THfiehtor F1d HINTT qAT 37 =T § fereport &1

Thiesed fog HTd hIT |
e
b fig (1 3, -2 & @R WW A W@ T o= 5 = ¢ oaw
AL Yol 20l e, o v o e wnfiern s B | 3 g
@ < g forg | gl 1 IR |

2 2
35. W%Wﬁaﬁ%+%:1w§+%:1mﬁi@%ﬁw%ﬂwm
T |
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SECTION -D

This section comprises Long Answer type (LA) questions of 5 marks each.

32. A function f: [- 4, 4] — [0, 4] is given by f(x) =1/16 — 2. Show that f is an
onto function but not a one-one function. Further, find all possible values

of ‘a’ for which f(a) = \ﬁ . 5

-3 -2 4 1 2 O
2 1 2|, B=|-2 -1 -2 |, then find AB and use it to

33. (a) IfA=
2 1 3 0O -1 1
solve the following system of equations :
x—2y=3
2x—y—z=2
—2y+z=3 5
OR
! cosa —sino O
(b) Iff(a)=| sina cosa O |, prove that f(a) - f(—p) = f(a. — B) 5
0 0 1

34. (a) Find the equations of the diagonals of the parallelogram PQRS
whose vertices are P(4, 2, —6), Q(5, =3, 1), R(12, 4, 5) and S(11, 9, —-2).
Use these equations to find the point of intersection of diagonals.

OR
(b) A line [ passes through point (-1, 3, —2) and 1is perpendicular to both

) + 2 -1 +1 . .
the lines % = % = % and x_S =¥ 5 - 2 5 Find the vector equation
of the line /. Hence, obtain its distance from origin. 5
2 2

35. Find the area of the smaller region bounded by the curves % + % =1and

57 % = 1, using integration. 5
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GUS-§
3 QS T 3 YUl T /hH/IT=¢/Thishd ShIgal HodTehd STHTNG Yo7 & o
Ak o 4 3 B |

36. MY I I8 YA & Toh G-AT hl TG H THTHT 12% AN THERET 2 |

7T T oX fsit htd 3T, 5= o aHEfETe 8 o T @
A ;9 YT a9 AT g amEiETeh |8
AHE G o= o T 24% # |
B : S fuar gfursfeaes qeun Amar ameies &
AHE G o= o ST 22% # |
C : o fuar ameEas qen AT glavTefeass &
AHE T o= o ST 17% # |
D : 9 fUar 9 47T g graTe ek &l
AT o= o T 9% ¥ |

?Ts’ﬂﬂﬁ‘g’QﬁBP(A):P(B)=P(C)=P(D):i%Wmeaﬁm%aﬁW
IMEEh & |
YL o IMYR W =1 371 I -
(i) @I : P(L/C)
(ii) TSI : P(L/A)
(iii) (a) A HINT : P(A/L)
COE
(b) wTRrekar sTTa I o T ATg=AT AT T AT AR & etk feI §
Trar-fudT § 8 9T Uk IHE T 2§ |
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SECTION - E

This section comprises 3 source based case-based/passage based/integrated
units of assessment questions of 4 marks each.

36. Recent studies suggest that roughly 12% of the world population is left
handed.

Depending upon the parents, the chances of having a left handed child are
as follows :

A : When both father and mother are left handed :
Chances of left handed child 1s 24%.

B : When father is right handed and mother is left handed :
Chances of left handed child 1s 22%.

C : When father is left handed and mother is right handed :
Chances of left handed child 1s 17%.

D : When both father and mother are right handed :
Chances of left handed child is 9%.

Assuming that P(A) = P(B) = P(C) = P(D) = i and L denotes the event that

child is left handed.
Based on the above information, answer the following questions :
(1) Find P(L/C) 1
(i) Find P(L/A) 1
(1) (a) Find P(A/L)
OR
(b) Find the probability that a randomly selected child is left
handed given that exactly one of the parents is left handed. 2
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37. Uk TUeed o 1 foredl & gy 99 ¥ fareenfua 31mae bl A pl o9 - T gt Sran
2, ST&f fuked, 9o & fog H i sean & |

75 7 cm? &R i 91q ! I |, Th S0 H GAT IaA1d S SR 1T 8, S 5o
Bg T HRI TR |

I o TR T T o7 o I ST

() 3Ife S 1 BT ¢ cm U1 S h cm B 1 SeiF o {5 o A=A V i v § e
HIT |

G B
(iil) (a) oo s o= e 3Ta HITT ST 3Rt AT 3TfIehad & |

A

(b) waTEY o frehan AT % fT, h > r T Gcd A & a1 T80 | 30
I k1 e dfs |
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37. Engine displacement is the measure of the cylinder volume swept by all

the pistons of a piston engine. The piston moves inside the cylinder bore

The cylinder bore in the form of circular cylinder open at the top is to be

made from a metal sheet of area 7571 cm?2.

Based on the above information, answer the following questions :

(1) If the radius of cylinder is r cm and height is h cm, then write the

volume V of cylinder in terms of radius r. 1

(1) Find e 1

(111) (a) Find the radius of cylinder when its volume is maximum. 2
OR

(b) For maximum volume, h > r. State true or false and justify. 2
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38. The use of electric vehicles will curb air pollution in the long run.

The use of electric vehicles is increasing every year and estimated electric

vehicles in use at any time t is given by the function V :

1 5
V(t)=gt3— §t2+25t—2

where t represents the time and t = 1, 2, 3.... corresponds to year 2001,

2002, 2003, ....... respectively.
Based on the above information, answer the following questions :

(1) Can the above function be used to estimate number of vehicles in the

year 2000 ? Justify.

(1) Prove that the function V(t) is an increasing function.
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